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Answer either in English or in Assamese.

1. Answer the following questions as directed :
' 1x10=10
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(@) When was ‘Make in India’ concept
launched ?
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(b) Which policy of the government has
moved India towards globalization ?
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(c)

(d)

(e)

“Management is what a Manage”, does”

the statement was given by F-W- Tayllsor
(Write True OF False)
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Which function of managemen:hls
considered as the base of all other
functions ?
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The person who recognizes the need
for the product is known as—

(S&T Tl IA—

() Entrepreneur
Troit

(i) Businessman

(iij) Enterprise

| Tt

(iv) None of the above
@R} (FIH! T2
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() Goods are produced in anticipation of

ARTEAR SIS Tesimm 31 =
(i) Demand
- sifzal
(i) Supply
Qs
(ii) Market
I|NS
‘. (iv) None of the above
8oIFT B8 T
(@

business.

is common in all types of

e 499 JIANTS SHABI (Rl Jrg——

(i) Market
IER

() Supply
NS

(iii) Risk
Remmizt

(iv) None of the above
GoIT oIS FZm
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(h) Managers are directly accountable to
society for the profit. -

(Write True or False)
ISR A3 oSS A ANTHE &S (otimeitiaits

RS | (otT 7 8% o)
(i) Business and society are mutually
dependent. (Write True or False)
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() An institution organised and operated
to provide goods and services to society
under the incentive private gain is ____.

FRes© sTres TrifT SETS FIe AN SR
Gl evie 99 IR Ao T ARGiere g
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() Business
AR

(iij Organisation
FRANOA

(iii) Service
Rl

(iv) None of the above
\@9I3q B8 W=

4 (Sem-1/CBCS) BOM/G 4

2. Answer the folldwing questions : 2x5=10

. FraerRe 5y T [ e
7 (@ What is Communication ?
caiat I R q@ie

(b) What is service sector ?
FRt o W e

(c) Define Partnership Business.

SIS PR e
(d) Define human resburce management.
TR T “ARGIemIv IR W |
(e) What is perishable goods ?
gl A /e
3. Write short answers to any four; of the
following: ° 5x4=20

Wﬁmﬂvﬁﬁ?sﬁwwz

(@) Discuss various steps for making “Make
in India” a success.
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(b) Discuss various market forces affecting

franchising companies.

FHIRfEIe (F=NT eiRe 3 Ren Ioi]
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(c) Write characteristics of a:good plan.

93 ofel ARTENR RS Bt

(d) Describe various barriers to

communication.

aiag &few ﬂ%mmmaﬁw'

(e) What are the different stagés of product
life cycle ? Explain.

I G 50 RSw =iy & e 3k

9

() Describe the problems of small-scale
industries of India,

©RST T4 SWINR TPURE 9et 71|
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Write long answers to any four of the
following : 10x4=40

o] R bifab1T 3=y Tes o e

(@)

(b)

(c)

(d)

What is business ? What steps have to
be taken in social responsibility of
business in developing an organisation ?
3+7=10
T 2 @Bl oty R AR IPNTE
NS AT & R siewA o ALK |
=B 3 |
What is a MNC ? Explain are the merits
and demerits of MNCs. 2+4+4=10

I Fotw e qemifos Mosm ARG o=
SRR Siese 51 |

What are the factors that influence the

choice of a business organisation ?
Discuss.

- TN A B wies eeiS I PR
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Explain the principles of managemént
propounded by Henri Fayol.
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(e) What is partnership deed ? Explain the
procedure of registration of a

partnership firm. 3+7=10
SISt piereig fF e w%mmﬂ@m
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() Define the term ‘Controlling’. Explain
steps involved in controlling process.

g Sigw I & o e Ragame e
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(99 What are the qualities of a leader?

Explain about different types of leader.
4+6=10

4T (TR SNV Rr? vy 249 (oea
R 3 =11

(h) What is marketing mix ? Discuss the
elements of marketing mix. 3+7=10
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